112 £ F > A EREHL 2RR2 =

=> RS

#1: 5 BkIIEI$(179.06) #2: 3 ﬁm%(lﬁ 02) #3: 6 F1E(168.68)

1 NS: 2% WH¥RfaEI0) -16 6 NS: BREEZE HIRE(BAC) 9 2.69 17.31| Total VP: 122.66 Rank:
EW: $8{—5k Mh&eREAC) -9 EW: ZhiEi8 FER1E(BAO) 16 IMP:| 11 35 7
I — —
#9 aT3 2SS-2 -100 Mean: 4CW-2 200 7.0 1|[[#10 s T6 3SE4 -170 Mean: 2HS2 110 80 2
v QT542 3CW3-110 -110 3CW-1 100 50 3 v 983 2HS2 110 -230  3HS-1 100 4.0 1
732 Dif: 10 NS:0 3SS-2 4100 00 1 o T8643 Dif: -280 NS:2 3SE4 470 20 2
» 632 IMP: 0 EW:0 3CW3 110 00 2 » KQ5 IMP: -7 EW:-8 2SE4 470 2.0 1
s 84 & K95 28S-2 100 00 1 ||a K72 » QJ854 3SE5 200 1.0 1
v J9 v K763 3NE3 600 -10.0 2 ||w A2 _I_ v 74 4HXS-2 500 -7.0 1
+ AK84 — * T96 * AQ72 *J9 4SE4 620 9.0 2
& AK954 » Q87 & 9763 & AJT2
% ¢ VAN 4 AQJ762 *oVAN 4 A3
N ~~~~~ v A8 N ~~2~~ v KQJT65
S ~~~1~ +QJ5 S ~~2~~ ¢K5
E 43~~4 &JT E 4~~41 »84
W32~~~ W 4~~41
5CXS5 550 Mean: 5CXS5 550 8.0 1 ||# 12 o JT642 6CW6 -920 Mean: 6CE-1 50 100 1
3NN4 430 200  3NN4 430 60 3 v 85 3NW6 -490 -440 5CW5 400 1.0 1
Dif: 120 NS:8 5CS5 400 50 2 + QT8 Dif: -430 NS:-10 3NW4 430 0.0 1
IMP: 3 EW:-6 5CS-1 50 6.0 1 & A96 IMP: -10 EW:2 3NE4 430 0.0 1
~ 9742 5CS-2 100 -70 2 ||a 53 ~ AKQ97 3NW5 460 1.0 3
v 9543 6NXN-2 300 -11.0 1 ||e AJ7 | v Q9 3NW6 490 20 2
+ A96 ¢ A972 ¢ K4 6CW6 920 -10.0 1
s A3 a Q432 a KJT8
oo VAN 4,8
N ~~~~~ v KT6432
S ~~~~~ ¢ J653
E 5~~56 &75
W 5~~56
#13 » KQ53 3NW4 -630 Mean: 2HE3 140 9.0 1 ||# 14 s QT2 58S-1-50 Mean: 5HXW-2 300 30 3
v Q2 3NE5 -660 -530 2NE4 180 80 1 v9 5HXE-2 300 210  5HXE-2 300 3.0 4
¢ T987 Dif: 30 NS:-3 3NE3 600 -20 1 o JT953 Dif: -350 NS:-6 4HW-1 50 -40 2
» AJ6 IMP: 1 EW:4 3NW4 630 -3.0 1 » T632 IMP: -8 EW:-3 5SS-1 50 6.0 1
& J962 \ & A87 3NE4 630 -3.0 4 ||s 654 s 97
v AJ963 v K4 3NES -660 -4.0 2 ||ev AK743 v QJT652
e5 + + AKQJ3 + Q2 .74
& 983 & K75 » AQJ » K87
FOIVAN ,T4 % ¢ VAN 4 AKJIB3
N ~~~~~ v T875 N 13~3~ ¢38
§ ~~~~~ ¢ 642 S 13~ 3~ ¢ AK86
E ~~554 &QT42 E ~~3~~ %954
W ~~554 W ~~3~~
# 15 'y 4SW5 -450 Mean: 6CS-2 200 7.0 1||#16 » KQJ93 4SN-1-50 Mean: 4SN4 420 40 7
v KJT876 5SXW6 -750 -490  5HS-2 200 7.0 2 v 62 4SN4 420 270  5SN-1 50 8.0 1
¢ T32 Dif: 300 NS:1 4SW5 450 1.0 2 *2 Dif: -470 NS:-8 4SN-1 50 8.0 1
& 7654 IMP: 7 EW:6 5DN-5 500 0.0 1 & KT832 IMP: -10 EW:-4 6CXN-1 4100 9.0 1
& JT76542 & AKQ3 4SXW5 690 -50 1 aT » 8654
v Q2 v 53 5SXW6 750 -6.0 3 ||e AT74 — v QJ853
¢ AKJ7 ¢+ 864 + KQJT4 ¢ 9753
& » JT93 » QJ4 »
oo VABN 9 oo VAN 4 AT2
N 3~4~~ vA% N 4~~32 ¢K9
S 3~5~~ Q9% S 5~~23 ¢ A86
E ~1~5~ &AKQ82 E ~53~~ & A9765
W ~1~5~ W ~53~~




112 £ F > A EREHL 2RR2 =

=> RS

#1:5 ﬁlﬁﬁ@ﬁ(lw 06) #2: 3 ﬁm%(lﬁ 02) #3: 6 F1E(168.68)

2 NS: B&ST HREEFEGHO) -17 8 S: 8|2 MEIE(BAC) 5 3.77 16.23 | Total VP: 110.42 Rank:
EW: #e3 SIfRZEEAC) -5 EW: {87 SeM4E(BO) 17 IMP:| 16 35 8
I - — —
#9 aT3 3NE3 -600 Mean: 4CW-2 200 7.0 1|[[#10 s T6 4SE4 -620 Mean: 2HS2 110 80 2
v QT542 3SS-2-100 -110 3CW-1 100 50 3 v 983 2HS2 110 -230  3HS-1 100 4.0 1
732 Dif: -500 NS:-10 3SS-2 4100 00 1 o T8643 Dif: -730 NS:-9 3SE4 470 20 2
» 632 IMP: -11 EW:0 3CW3 110 00 2 » KQ5 IMP: -12 EW:-8 2SE4 470 2.0 1
s 84 & K95 28S-2 100 00 1 ||a K72 » QJ854 3SE5 200 1.0 1
v J9 v K763 3NE3 600 -10.0 2 ||w A2 _I_ v 74 4HXS-2 500 -7.0 1
+ AK84 — * T96 * AQ72 *J9 4SE4 620 9.0 2
& AK954 » Q87 » 9763 a» AJT2
% ¢ VAN 4 AQJ762 *¢VAN 4, A03
N ~~~~~ v A8 N ~~2~~ v KQJT65
S ~~~1~ +QJ5 S ~~2~~ ¢K5
E 43 ~~4 &JT E 4~~41 »84
W32~~~ W 4~~41
5CS-2-100 Mean: 5CXS5 550 8.0 1 ||# 12 o JT642 3NW6 -490 Mean: 6CE-1 50 100 1
5CS5400 200 3NN4 430 60 3 v 85 3NW5 -460 -440 5CW5 400 1.0 1
Dif: -500 NS:-7 5CS5 400 50 2 + QT8 Dif: -30 NS:-2 3NW4 430 0.0 1
IMP: -11 EW:-5 5CS-1 50 6.0 1 & A96 IMP: -1 EW:1 3NE4 430 0.0 1
~ 9742 5CS-2 100 -70 2 ||a 53 ~ AKQ97 3NW5 460 1.0 3
v 9543 6NXN-2 300 -11.0 1 ||e AJ7 | v Q9 3NW6 490 20 2
+ A96 ¢ A972 ¢ K4 6CW6 920 -10.0 1
s A3 a Q432 a KJT8
oo VAN 4,8
N ~~~~~ v KT6432
S ~~~~~ ¢ J653
E 5~~56 &75
W 5~~56
#13 » KQ53 3NE4 -630 Mean: 2HE3 140 9.0 1 ||# 14 s QT2 5HXW-2 300 Mean: 5HXW-2 300 30 3
v Q2 3NE4 -630 -530 2NE4 180 80 1 v9 5HXE-2 300 210  5HXE-2 300 3.0 4
¢ T987 Dif: 0 NS:-3 3NE3 600 -20 1 o JT953 Dif: 0 NS:3 4HW-1 50 -40 2
» AJ6 IMP: 0 EW:3 3NW4 630 -3.0 1 » T632 IMP: 0 EW:-3 5SS-1 50 6.0 1
& J962 \ & A87 3NE4 630 -3.0 4 ||s 654 s 97
v AJ963 v K4 3NE5 -660 -4.0 2 ||ev AK743 v QJT652
e5 + + AKQJ3 + Q2 .74
& 983 & K75 » AQJ » K87
FOIVAN ,T4 % ¢ VAN 4 AKJIB3
N ~~~~~ v T875 N 13~3~ ¢38
S ~~~~~ ¢ 642 S 13~ 3~ ¢ AK86
E ~~554 &QT42 E ~~3~~ &954
W ~~554 W ~~3~~
# 15 'y 5HS-2 -200 Mean: 6CS-2 200 7.0 1||#16 » KQJ93 4SN4 420 Mean: 4SN4 420 40 7
v KJT876 4SW5 -450 -490 5HS-2 200 7.0 2 v 62 5SN-1-50 270  5SN-1 50 8.0 1
¢ T32 Dif: 250 NS:7 4SW5 450 1.0 2 *2 Dif: 470 NS:4 4SN-1 50 8.0 1
& 7654 IMP: 6 EW:-1 5DN-5 500 0.0 1 & KT832 IMP: 10 EW:8 6CXN-1 4100 9.0 1
& JT76542 & AKQ3 4SXW5 690 -50 1 aT » 8654
v Q2 v 53 5SXW6 750 60 3 ||e AT74 —_ v QJ853
¢ AKJ7 + 864 + KQJT4 ¢ 9753
& » JT93 » QJ4 »
oo VABN 9 oo VAN 4 AT2
N 3~4~~ vA% N 4~~32 ¢K9
S 3~5~~ Q9% S 5~~23 ¢ A86
E ~1~5~ &AKQ82 E ~53~~ & A9765
W ~1~5~ W ~53~~




112 £ F > A EREHL 2RR2 =

=> RS

#1: 5 BkIIEI$(179.06) #2: 3 ﬁm%(lﬁ 02) #3: 6 F1E(168.68)

3 NS: FENER 12 ERZ(BH0) 4 7 NS: R15g8 EiA(BAC) 2 10.44 : 9.56 Total VP: 175.02 Rank:
EW: 1505 BEEEAC) -2 EW: =55 BEHE(BAO) -4 IMP:| 32 31 2
I . — —
#9 aT3 3CW-1100 Mean: 4CW-2 200 7.0 1|[[#10 s T6 4SE4 -620 Mean: 2HS2 110 80 2
v QT542 3NE3 -600 -110  3CW-1 100 50 3 v 983 2SE4 -170 -230  3HS-1 100 4.0 1
732 Dif: 700 NS:5 3SS-2 4100 00 1 ¢ T8643 Dif: -450 NS:-9 3SE4 470 20 2
» 632 IMP: 12 EW:10 3CW3 110 00 2 » KQ5 IMP: -10 EW:-2 2SE4 470 2.0 1
s 84 & K95 28S-2 100 00 1 ||a K72 » QJ854 3SE5 200 1.0 1
v J9 v K763 3NE3 600 -10.0 2 ||w A2 _I_ v 74 4HXS-2 500 -7.0 1
+ AK84 — * T96 * AQ72 *J9 4SE4 620 9.0 2
& AK954 » Q87 & 9763 a» AJT2
% ¢ VAN 4 AQJ762 *oVAN 4 A3
N ~~~~~ v A8 N ~~2~~ y KQJT65
S ~~~1~ +QJ5 S ~~2~~ ¢K5
E 43 ~~4 &JT E 4~~41 »84
W32~~~ W 4~~41
5CS-1-50 Mean: 5CXS5 550 8.0 1 ||# 12 o JT642 6CE-150 Mean: 6CE-1 50 100 1
5CS5400 200 3NN4 430 60 3 v 85 3NW4 -430 -440 5CW5 400 1.0 1
Dif: -450 NS:-6 5CS5 400 50 2 + QT8 Dif: 480 NS:10 3NW4 430 0.0 1
IMP: -10 EW:-5 5CS-1 50 6.0 1 & A96 IMP: 10 EW:0 3NE4 430 0.0 1
~ 9742 5CS-2 100 -70 2 ||a 53 ~ AKQ97 3NW5 460 1.0 3
v 9543 6NXN-2 300 -11.0 1 ||e AJ7 | v Q9 3NW6 490 20 2
+ A96 ¢ A972 ¢ K4 6CW6 920 -10.0 1
a A3 » Q432 a KJT8
oo VAN 4,8
N ~~~~~ v KT6432
S ~~~~~ ¢ J653
E 5~~56 &75
W 5~~56
#13 » KQ53 2HE3 -140 Mean: 2HE3 140 9.0 1 ||# 14 s QT2 4HW-1 50 Mean: 5HXW-2 300 30 3
v Q2 3NE3 -600 -530 2NE4 180 80 1 v?9 5HXW-2 300 210  5HXE-2 300 3.0 4
¢ T987 Dif: 460 NS:9 3NE3 600 -20 1 ¢ JT953 Dif: -250 NS:-4 4HW-1 50 -40 2
» AJ6 IMP: 10 EW:2 3NW4 630 -3.0 1 » T632 IMP: -6 EW:-3 5SS-1 50 6.0 1
& J962 \ & A87 3NE4 630 -3.0 4 ||s 654 s 97
v AJ963 v K4 3NES -660 -4.0 2 ||ev AK743 v QJT652
e5 + + AKQJ3 + Q2 .74
& 983 & K75 » AQJ » K87
FOIVAN ,T4 % ¢ VAN 4 AKJIB3
N ~~~~~ v T875 N 13~3~ ¢38
S ~~~~~ ¢ 642 S 13~ 3~ ¢ AK86
E ~~554 &QT42 E ~~3~~ &954
W ~~554 W ~~3~~
# 15 'y 4SXW5 -690 Mean: 6CS-2 200 7.0 1||#16 » KQJ93 4SN4 420 Mean: 4SN4 420 40 7
v KJT876 5DN-5-500 -490 5HS-2 200 7.0 2 v 62 4SN4 420 270  5SN-1 50 8.0 1
¢ T32 Dif: -190 NS:-5 4SW5 450 1.0 2 *2 Dif: 0 NS:4 4SN-1 50 8.0 1
& 7654 IMP: -5 EW:0 5DN-5 500 0.0 1 & KT832 IMP: 0 EW:-4 6CXN-1 4100 9.0 1
& JT76542 & AKQ3 4SXW5 690 -50 1 aT » 8654
v Q2 v 53 5SXW6 750 -6.0 3 ||e AT74 —_ v QJ853
¢ AKJ7 ¢+ 864 + KQJT4 ¢ 9753
& » JT93 » QJ4 »
oo VABN 9 oo VAN 4 AT2
N 3~4~~ vA% N 4~~32 ¢K9
S 3~5~~ Q9% S 5~~23 ¢ A86
E ~1~5~ &AKQ82 E ~53~~ & A9765
W ~1~5~ W ~53~~




112 £ F > A EREHL 2RR2 =

=> RS

#1: 5 BkIIEI$(179.06) #2: 3 ﬁm%(lﬁ 02) #3: 6 F1E(168.68)

4 NS: BiHaag [ s=8h(5H0) 25 9 NS: 52883E SR{EAB(BAC) 29 8.73 11.27 | Total VP: 105.04 Rank:
EW: BRZER @53 EAC) -29 EW: EHE EIM7A(FH0) -2 IMP:| 7 : 10 10
I . —
#9 aT3 3CW-1100 Mean: 4CW-2 200 7.0 1|[[#10 s T6 3HS-1-100 Mean: 2HS2 110 80 2
v QT542 3CW3-110 -110 3CW-1 100 50 3 v 983 3SE4 -170 -230  3HS-1 100 4.0 1
732 Dif: 210 NS:5 3SS-2 4100 00 1 + 78643 Dif: 70 NS:4 3SE4 470 20 2
» 632 IMP: 5 EW:0 3CW3 110 00 2 » KQ5 IMP: 2 EW:-2 2SE4 470 2.0 1
s 84 & K95 28S-2 100 00 1 ||a K72 » QJ854 3SE5 200 1.0 1
v J9 v K763 3NE3 600 -10.0 2 ||w A2 _I_ v 74 4HXS-2 500 -7.0 1
+ AK84 — * T96 * AQ72 *J9 4SE4 620 9.0 2
& AK954 » Q87 & 9763 & AJT2
% ¢ VAN 4 AQJ762 *¢VAN 4, A03
N ~~~~~ v A8 N ~~ 2~ ~ y KQJT65
S ~~~1~ +QJ5 S ~~2~~ ¢K5
E 43~~4 &JT E 4~~41 »84
W32~~~ W 4~~41
3NN4 430 Mean: 5CXS5 550 8.0 1 ||# 12 o JT642 3NW5 -460 Mean: 6CE-1 50 100 1
3NN4 430 200  3NN4 430 60 3 v 85 3NW5 -460 -440 5CW5 400 1.0 1
Dif: 0 NS:6 5CS5 400 50 2 + QT8 Dif: 0 NS:-1 3NW4 430 0.0 1
IMP: 0 EW:-6 5CS-1 50 6.0 1 & A96 IMP: 0 EW:1 3NE4 430 0.0 1
~ 9742 5CS-2 100 -70 2 ||a 53 ~ AKQ97 3NW5 460 1.0 3
v 9543 6NXN-2 300 -11.0 1 ||e AJ7 | v Q9 3NW6 490 20 2
+ A96 ¢ A972 ¢ K4 6CW6 920 -10.0 1
s A3 a Q432 a KJT8
oo VAN 4,8
N ~~~~~ v KT6432
S ~~~~~ ¢ J653
E 5~~56 &75
W 5~~56
#13 » KQ53 3NE4 -630 Mean: 2HE3 140 9.0 1 ||# 14 s QT2 5HXE-2 300 Mean: 5HXW-2 300 30 3
v Q2 2NE4 -180 -530 2NE4 180 80 1 v?9 5HXW-2 300 210  5HXE-2 300 3.0 4
¢ T987 Dif: -450 NS:-3 3NE3 600 -20 1 o JT953 Dif: 0 NS:3 4HW-1 50 -40 2
» AJ6 IMP: -10 EW:-8 3NW4 630 -3.0 1 » T632 IMP: 0 EW:-3 5SS-1 50 6.0 1
& J962 \ & A87 3NE4 630 -3.0 4 ||s 654 s 97
v AJ963 v K4 3NES -660 -4.0 2 ||ev AK743 v QJT652
e5 + + AKQJ3 + Q2 .74
& 983 & K75 » AQJ » K87
FOIVAN ,T4 % ¢ VAN 4 AKJIB3
N ~~~~~ v T875 N 13~3~ ¢38
§ ~~~~~ ¢ 642 S 13~ 3~ ¢ AK86
E ~~554 &QT42 E ~~3~~ &954
W ~~554 W ~~3~~
# 15 'y 6CS-2 -200 Mean: 6CS-2 200 7.0 1||#16 » KQJ93 4SN4 420 Mean: 4SN4 420 40 7
v KJT876 5HS-2 -200 -490  5HS-2 200 7.0 2 v 62 4SN4 420 270 5SN-1 50 8.0 1
¢ T32 Dif: 0 NS:7 4SW5 450 1.0 2 *2 Dif: 0 NS:4 4SN-1 50 8.0 1
& 7654 IMP: 0 EW:-7 5DN-5 500 0.0 1 & KT832 IMP: 0 EW:-4 6CXN-1 4100 9.0 1
& JT76542 & AKQ3 4SXW5 690 -50 1 aT » 8654
v Q2 v 53 5SXW6 750 -6.0 3 ||e AT74 — v QJ853
¢ AKJ7 ¢+ 864 + KQJT4 ¢ 9753
& » JT93 » QJ4 »
oo VABN 9 oo VAN 4 AT2
N 3~4~~ vA% N 4~~32 ¢K9
S 3~5~~ Q9% S 5~~23 ¢ A86
E ~1~5~ &AKQ82 E ~53~~ & A9765
W ~1~5~ W ~53~~




112 £ F > A EREHL 2RR2 =

=> RS

#1: 5 BkIIEI$(179.06) #2: 3 ﬁm%(lﬁ 02) #3: 6 F1E(168.68)

5 NS: BRER) BRRFERHO) -6 10 NS: 818318 S5 (BAC) -30 16.00 : 4.00 Total VP: 179.06 Rank:
EW: BE&5E HZ22EAC) 30 EW: £ 52 sRRH(BAO) 6 IMP:| 26 : 8 1
I . — —
#9 aT3 3CW-1100 Mean: 4CW-2 200 7.0 1|[[#10 s T6 3SE5 -200 Mean: 2HS2 110 80 2
v QT542 4CW-2 200 -110  3CW-1 100 50 3 v 983 4HXS-2 -500 -230  3HS-1 100 4.0 1
732 Dif: -100 NS:5 3SS-2 4100 00 1 o T8643 Dif: 300 NS:1 3SE4 470 20 2
» 632 IMP: -3 EW:-7 3CW3 110 00 2 » KQ5 IMP: 7 EW:7 2SE4 470 2.0 1
s 84 & K95 28S-2 100 00 1 ||a K72 » QJ854 3SE5 200 1.0 1
v J9 v K763 3NE3 600 -10.0 2 ||w A2 _I_ v 74 4HXS-2 500 -7.0 1
+ AK84 — * T96 * AQ72 *J9 4SE4 620 9.0 2
& AK954 » Q87 & 9763 & AJT2
% ¢ VAN 4 AQJ762 *oVAN 4 A3
N ~~~~~ v A8 N ~~2~~ y KQJT65
S ~~~1~ +QJ5 S ~~2~~ ¢K5
E 43~~4 &JT E 4~~41 »84
W32~~~ W 4~~41
6NXN-2 -300 Mean: 5CXS5 550 8.0 1 ||# 12 o JT642 5CW5 -400 Mean: 6CE-1 50 100 1
5CS-2-100 200 3NN4 430 60 3 v 85 3NE4 -430 -440 5CW5 400 1.0 1
Dif: -200 NS:-11 5CS5 400 50 2 + QT8 Dif: 30 NS:1  3NW4 430 0.0 1
IMP: -5 EW:7 5CS-1 50 6.0 1 & A96 IMP: 1 EW:0 3NE4 430 0.0 1
~ 9742 5CS-2 100 -70 2 ||a 53 ~ AKQ97 3NW5 460 1.0 3
v 9543 6NXN-2 300 -11.0 1 ||e AJ7 | v Q9 3NW6 490 20 2
+ A96 ¢ A972 ¢ K4 6CW6 920 -10.0 1
a A3 a Q432 a KJT8
oo VAN 4,8
N ~~~~~ v KT6432
S ~~~~~ ¢ J653
E 5~~56 &75
W 5~~56
#13 » KQ53 3NE4 -630 Mean: 2HE3 140 9.0 1 ||# 14 s QT2 5HXE-2 300 Mean: 5HXW-2 300 30 3
v Q2 3NE5 -660 -530 2NE4 180 80 1 v?9 4HW-150 210  5HXE-2 300 3.0 4
¢ T987 Dif: 30 NS:-3 3NE3 600 -20 1 ¢ JT953 Dif: 250 NS:3  4HW-1 50 -40 2
» AJ6 IMP: 1 EW:4 3NW4 630 -3.0 1 » T632 IMP: 6 EW:4 5SS-1 50 6.0 1
& J962 \ & A87 3NE4 630 -3.0 4 ||s 654 s 97
v AJ963 v K4 3NES -660 -4.0 2 ||ev AK743 v QJT652
e5 + + AKQJ3 + Q2 .74
& 983 & K75 » AQJ » K87
FOIVAN ,T4 % ¢ VAN 4 AKJIB3
N ~~~~~ v T875 N 13~3~ ¢38
§ ~~~~~ ¢ 642 S 13~ 3~ ¢ AK86
E ~~554 &QT42 E ~~3~~ %954
W ~~554 W ~~3~~
# 15 'y 5SXW6 -750 Mean: 6CS-2 200 7.0 1||#16 » KQJ93 4SN4 420 Mean: 4SN4 420 40 7
v KJT876 5SXW6 -750 -490  5HS-2 200 7.0 2 v 62 6CXN-1-100 270  5SN-1 50 8.0 1
¢ T32 Dif: 0 NS:-6 4SW5 450 1.0 2 *2 Dif: 520 NS:4 4SN-1 50 8.0 1
& 7654 IMP: 0 EW:6 5DN-5 500 0.0 1 & KT832 IMP: 11 EW:9 6CXN-1 4100 9.0 1
& JT76542 & AKQ3 4SXW5 690 -50 1 aT » 8654
v Q2 v 53 5SXW6 750 -6.0 3 ||e AT74 — v QJ853
¢ AKJ7 ¢+ 864 + KQJT4 ¢ 9753
& » JT93 » QJ4 »
oo VABN 9 * ¢ VAN 4 A2
N 3~4~~ vA% N 4~~32 ¢K9
S 3~5~~ Q9% S 5~~23 ¢ A86
E ~1~5~ &AKQ82 E ~53~~ & A9765
W ~1~5~ W ~53~~




112 £ F > A EREHL 2RR2 =

=> RS

#1: 5 BkIIEI$(179.06) #2: 3 ﬁm%(lﬁ 02) #3: 6 F1E(168.68)

6 NS: BRzE#E HIM B EHC) 9 1 NS: ¥8 lEi3h{h(F0) -16 17.31 2.69 Total VP: 168.68 Rank:
EW: S ZS5EEH0) 16 EW: $E{_# MEFR(BAC) -9 IMP:| 36 : 11 3
I — o
#9 aT3 2SS-2 100 Mean: 4CW-2 200 7.0 1|[[#10 s T6 3SE4 170 Mean: 2HS2 110 80 2
v QT542 3CW3 110 -110 3CW-1 100 50 3 v 983 2HS2 -110 -230  3HS-1 100 4.0 1
732 Dif: -10 NS:0 3SS-2 4100 00 1 + 78643 Dif: 280 NS:8 3SE4 470 20 2
» 632 IMP: 0 EW:0 3CW3 110 00 2 » KQ5 IMP: 7 EW:-2 2SE4 470 2.0 1
s 84 & K95 28S-2 100 00 1 ||a K72 » QJ854 3SE5 200 1.0 1
v J9 v K763 3NE3 600 -10.0 2 ||w A2 _I_ v 74 4HXS-2 500 -7.0 1
+ AK84 — * T96 * AQ72 *J9 4SE4 620 9.0 2
& AK954 » Q87 & 9763 & AJT2
% ¢ VAN 4 AQJ762 *¢VAN 4, A03
N ~~~~~ v A8 N ~~ 2~ ~ y KQJT65
S ~~~1~ +QJ5 S ~~2~~ ¢K5
E 43~~4 &JT E 4~~41 »84
W32~~~ W 4~~41
5CXS5 -550 Mean: 5CXS5 550 8.0 1 ||# 12 o JT642 6CW6 920 Mean: 6CE-1 50 100 1
3NN4 -430 200  3NN4 430 60 3 v 85 3NW6 490 -440 5CW5 400 1.0 1
Dif: -120 NS:6 5CS5 400 50 2 + QT8 Dif: 430 NS:-2 3NW4 430 0.0 1
IMP: -3 EW:-8 5CS-1 50 6.0 1 & A96 IMP: 10 EW:10 3NE4 430 0.0 1
~ 9742 5CS-2 100 -70 2 ||a 53 ~ AKQ97 3NW5 460 1.0 3
v 9543 6NXN-2 300 -11.0 1 ||e AJ7 | v Q9 3NW6 490 20 2
+ A96 ¢ A972 ¢ K4 6CW6 920 -10.0 1
s A3 a Q432 a KJT8
oo VAN 4,8
N ~~~~~ v KT6432
S ~~~~~ ¢ J653
E 5~~56 &75
W 5~~56
#13 » KQ53 3NW4 630 Mean: 2HE3 140 9.0 1 ||# 14 s QT2 5SS-1 50 Mean: 5HXW-2 300 30 3
v Q2 3NE5 660 -530 2NE4 180 80 1 v?9 5HXE-2 -300 210  5HXE-2 300 3.0 4
¢ T987 Dif: -30 NS:-4 3NE3 600 -20 1 o JT953 Dif: 350 NS:3 4HW-1 50 -40 2
» AJ6 IMP: -1 EW:3 3NW4 630 -3.0 1 » T632 IMP: 8 EW:6 5SS-1 50 6.0 1
& J962 \ & A87 3NE4 630 -3.0 4 ||s 654 s 97
v AJ963 v K4 3NES -660 -4.0 2 ||ev AK743 v QJT652
e5 + + AKQJ3 + Q2 .74
& 983 & K75 » AQJ » K87
FOIVAN ,T4 % ¢ VAN 4 AKJIB3
N ~~~~~ v T875 N 13~3~ ¢38
§ ~~~~~ ¢ 642 S 13~ 3~ ¢ AK86
E ~~554 &QT42 E ~~3~~ %954
W ~~554 W ~~3~~
# 15 'y 4SW5 450 Mean: 6CS-2 200 7.0 1||#16 » KQJ93 4SN-150 Mean: 4SN4 420 40 7
v KJT876 5SXW6 750 -490  5HS-2 200 7.0 2 v 62 4SN4 -420 270  5SN-1 50 8.0 1
¢ T32 Dif: -300 NS:-6 4SW5 450 1.0 2 *2 Dif: 470 NS:4 4SN-1 50 8.0 1
& 7654 IMP: -7 EW:-1 5DN-5 500 0.0 1 & KT832 IMP: 10 EW:8 6CXN-1 4100 9.0 1
& JT76542 & AKQ3 4SXW5 690 -50 1 aT » 8654
v Q2 v 53 5SXW6 750 -6.0 3 ||e AT74 — v QJ853
¢ AKJ7 ¢+ 864 + KQJT4 ¢ 9753
& » JT93 » QJ4 »
oo VABN 9 oo VAN 4 AT2
N 3~4~~ vA% N 4~~32 ¢K9
S 3~5~~ Q9% S 5~~23 ¢ A86
E ~1~5~ &AKQ82 E ~53~~ & A9765
W ~1~5~ W ~53~~




112 £ F > A EREHL 2RR2 =

=> RS

#1: 5 BkIIEI$(179.06) #2: 3 ﬁm%(lﬁ 02) #3: 6 F1E(168.68)

7 NS: Sf8ise BEGEIC) 2 3 NS: FEIET] 52 7(F0) 4 9.56 : 10.44| Total VP: 147.92 Rank:
EW: 27 SEREEI0) 4 EW: i35 BRiEEsR(BAC) -2 IMP:| 31 32 5
I — o
#9 aT3 3CW-1-100 Mean: 4CW-2 200 7.0 1|[[#10 s T6 4SE4 620 Mean: 2HS2 110 80 2
v QT542 3NE3 600 -110  3CW-1 100 50 3 v 983 2SE4 170 -230  3HS-1 100 4.0 1
732 Dif: -700 NS:-10 3SS-2 4100 00 1 o T8643 Dif: 450 NS:2 3SE4 470 20 2
» 632 IMP: -12 EW:-5 3CW3 110 00 2 » KQ5 IMP: 10 EW:9 2SE4 470 2.0 1
» K95 28S-2 100 0.0 1 ||a K72 » QJ854 3SE5 200 1.0 1
v K763 3NE3 600 -10.0 2 ||w A2 _I_ v 74 4HXS-2 500 -7.0 1
* T96 * AQ72 *J9 4SE4 620 9.0 2
» Q87 » 9763 a» AJT2
*¢VAN 4, A03
N ~~2~~ v KQJT65
S ~~2~~ ¢K5
E 4~~41 &84
W 4~~41
5CS-150 Mean: 5CXS5 550 8.0 1 ||# 12 o JT642 6CE-1-50 Mean: 6CE-1 50 100 1
5CS5-400 200 3NN4 430 60 3 v 85 3NW4 430 -440 5CW5 400 1.0 1
Dif: 450 NS:5 5CS5 400 50 2 + QT8 Dif: -480 NS:0 3NW4 430 0.0 1
IMP: 10 EW:6 5CS-1 50 6.0 1 & A96 IMP: -10 EW:-10 3NE4 430 0.0 1
~ 9742 5CS-2 100 -70 2 ||a 53 ~ AKQ97 3NW5 460 1.0 3
v 9543 6NXN-2 300 -11.0 1 ||e AJ7 | v Q9 3NW6 490 20 2
+ A96 ¢ A972 ¢ K4 6CW6 920 -10.0 1
s A3 a Q432 a KJT8
oo VAN 4,8
N ~~~~~ v KT6432
S ~~~~~ ¢ J653
E 5~~56 &75
W 5~~56
#13 » KQ53 2HE3 140 Mean: 2HE3 140 9.0 1 ||# 14 s QT2 4HW-1 -50 Mean: 5HXW-2 300 30 3
v Q2 3NE3 600 -530 2NE4 180 80 1 v9 5HXW-2 -300 210  5HXE-2 300 3.0 4
¢ T987 Dif: -460 NS:-2 3NE3 600 -20 1 o JT953 Dif: 250 NS:3  4HW-1 50 -40 2
» AJ6 IMP: -10 EW:-9 3NW4 630 -3.0 1 » T632 IMP: 6 EW:4 5SS-1 50 6.0 1
& J962 \ & A87 3NE4 630 -3.0 4 ||s 654 s 97
v AJ963 v K4 3NE5 -660 -4.0 2 ||ev AK743 v QJT652
e5 + + AKQJ3 + Q2 .74
& 983 & K75 » AQJ » K87
FOIVAN ,T4 % ¢ VAN 4 AKJIB3
N ~~~~~ v T875 N 13~3~ ¢38
S ~~~~~ ¢ 642 S 13~ 3~ ¢ AK86
E ~~554 &QT42 E ~~3~~ &954
W ~~554 W ~~3~~
#15 'y 4SXW5 690 Mean: 6CS-2 200 7.0 1||#16 » KQJ93 4SN4 -420 Mean: 4SN4 420 40 7
v KJT876 5DN-5 500 -490 5HS-2 200 7.0 2 v 62 4SN4 -420 270  5SN-1 50 8.0 1
¢ T32 Dif: 190 NS:0 4SW5 450 1.0 2 *2 Dif: 0 NS:4 4SN-1 50 8.0 1
& 7654 IMP: 5 EW:5 5DN-5 500 0.0 1 & KT832 IMP: 0 EW:-4 6CXN-1 4100 9.0 1
& JT76542 & AKQ3 4SXW5 690 -50 1 aT » 8654
v Q2 v 53 5SXW6 750 60 3 ||e AT74 —_ v QJ853
¢ AKJ7 + 864 + KQJT4 ¢ 9753
& » JT93 » QJ4 »
oo VABN 9 oo VAN 4 AT2
N 3~4~~ vA% N 4~~32 ¢K9
S 3~5~~ Q9% S 5~~23 ¢ A86
E ~1~5~ &AKQ82 E ~53~~ & A9765
W ~1~5~ W ~53~~




112 £ F > A EREHL 2RR2 =

=> RS

#1: 5 BkIIEI$(179.06) #2: 3 ﬁm%(lﬁ 02) #3: 6 F1E(168.68)

8 NS: 2% BB EIC) 5 2 NS: BREZ<F MigF(BO) -17 16.23 : 3.77 Total VP: 154.86 Rank:
EW Pigiobiid ,Bﬁﬁéﬁ(ﬁﬁm 17 EW: EEH ZIMZEPBAC) -5 IMP:| 35 16 4
— o
#9 'y T3 3NE3 600 Mean: 4CW-2 200 7.0 1|[[#10 s T6 4SE4 620 Mean: 2HS2 110 80 2
v QT542 3SS-2100 -110 3CW-1 100 50 3 v 983 2HS2 -110 -230  3HS-1 100 4.0 1
732 Dif: 500 NS:0 3SS-2 4100 00 1 + 78643 Dif: 730 NS:8 3SE4 470 20 2
» 632 IMP: 11 EW:10 3CW3 110 00 2 » KQ5 IMP: 12 EW:9 2SE4 470 2.0 1
s 84 & K95 28S-2 100 00 1 ||a K72 » QJ854 3SE5 200 1.0 1
v J9 v K763 3NE3 600 -10.0 2 ||w A2 _I_ v 74 4HXS-2 500 -7.0 1
+ AK84 — * T96 * AQ72 *J9 4SE4 620 9.0 2
& AK954 » Q87 & 9763 & AJT2
% ¢ VAN 4 AQJ762 *¢VAN 4, A03
N ~~~~~ v A8 N ~~2~~ y KQJT65
S ~~~1~ +QJ5 S ~~2~~ ¢K5
E 43~~4 &JT E 4~~41 »84
W32~~~ W 4~~41
5CS-2100 Mean: 5CXS5 550 8.0 1 ||# 12 o JT642 3NW6 490 Mean: 6CE-1 50 100 1
5CS5-400 200 3NN4 430 60 3 v 85 3NW5460 -440 5CW5 400 1.0 1
Dif: 500 NS:5 5CS5 400 50 2 + QT8 Dif: 30 NS:-1  3NW4 430 0.0 1
IMP: 11 EW:7 5CS-1 50 6.0 1 & A96 IMP: 1 EW:2 3NE4 430 0.0 1
~ 9742 5CS-2 100 -70 2 ||a 53 ~ AKQ97 3NW5 460 1.0 3
v 9543 6NXN-2 300 -11.0 1 ||e AJ7 | v Q9 3NW6 490 20 2
+ A96 ¢ A972 ¢ K4 6CW6 920 -10.0 1
s A3 a Q432 a KJT8
oo VAN 4,8
N ~~~~~ v KT6432
S ~~~~~ ¢ J653
E 5~~56 &75
W 5~~56
#13 » KQ53 3NE4 630 Mean: 2HE3 140 9.0 1 ||# 14 s QT2 5HXW-2 -300 Mean: 5HXW-2 300 30 3
v Q2 3NE4 630 -530 2NE4 180 80 1 v?9 5HXE-2 -300 210  5HXE-2 300 3.0 4
¢ T987 Dif: 0 NS:-3 3NE3 600 -20 1 o JT953 Dif: 0 NS:3 4HW-1 50 -40 2
» AJ6 IMP: 0 EW:3 3NW4 630 -3.0 1 » T632 IMP: 0 EW:-3 5SS-1 50 6.0 1
& J962 \ & A87 3NE4 630 -3.0 4 ||s 654 s 97
v AJ963 v K4 3NES -660 -4.0 2 ||ev AK743 v QJT652
e5 + + AKQJ3 + Q2 .74
& 983 & K75 » AQJ » K87
FOIVAN ,T4 % ¢ VAN 4 AKJIB3
N ~~~~~ v T875 N 13~3~ ¢38
§ ~~~~~ ¢ 642 S 13~ 3~ ¢ AK86
E ~~554 &QT42 E ~~3~~ &954
W ~~554 W ~~3~~
# 15 'y 5HS-2 200 Mean: 6CS-2 200 7.0 1||#16 » KQJ93 4SN4 -420 Mean: 4SN4 420 40 7
v KJT876 4SW5 450 -490  5HS-2 200 7.0 2 v 62 5SN-150 270  5SN-1 50 8.0 1
¢ T32 Dif: -250 NS:1 4SW5 450 1.0 2 *2 Dif: -470 NS:-8 4SN-1 50 8.0 1
& 7654 IMP: -6 EW:-7 5DN-5 500 0.0 1 & KT832 IMP: -10 EW:-4 6CXN-1 4100 9.0 1
& JT76542 & AKQ3 4SXW5 690 -50 1 aT » 8654
v Q2 v 53 58XW6 750 6.0 3 ||w AT74 — v QJ853
¢ AKJ7 ¢+ 864 + KQJT4 ¢ 9753
& » JT93 » QJ4 »
oo VABN 9 oo VAN 4 AT2
N 3~4~~ vA% N 4~~32 ¢K9
S 3~5~~ Q9% S 5~~23 ¢ A86
E ~1~5~ &AKQ82 E ~53~~ & A9765
W ~1~5~ W ~53~~




112 £ F > A EREHL 2RR2 =

=> RS

#1: 5 BkIIEI$(179.06) #2: 3 ﬁm%(lﬁ 02) #3: 6 F1E(168.68)

9 NS: ZHHIE 5REEHEAC) 29 4 NS: Eiinss AR EN(BAO) 25 11.27 . 8.73 Total VP: 129.48 Rank:
EW: EEE EIh7REI0) 25 EW: [REERE HiEER(BIC) -2 IMP:| 10 : 7 6
I —
#9 aT3 3CW-1-100 Mean: 4CW-2 200 7.0 1|[[#10 s T6 3HS-1 100 Mean: 2HS2 110 80 2
v QT542 3CW3 110 -110  3CW-1 100 50 3 v 983 3SE4 170 -230  3HS-1 100 4.0 1
732 Dif: 210 NS:0 3SS-2 4100 00 1 + 78643 Dif: -70 NS:2 3SE4 470 20 2
» 632 IMP: -5 EW:-5 3CW3 110 00 2 » KQ5 IMP: -2 EW:-4 2SE4 470 2.0 1
s 84 & K95 28S-2 100 00 1 ||a K72 » QJ854 3SE5 200 1.0 1
v J9 v K763 3NE3 600 -10.0 2 ||w A2 _I_ v 74 4HXS-2 500 -7.0 1
+ AK84 — + T96 * AQ72 *J9 4SE4 620 9.0 2
& AK954 » Q87 & 9763 a» AJT2
% ¢ VAN 4 AQJ762 *¢VAN 4, A03
N ~~~~~ v A8 N ~~ 2~ ~ y KQJT65
S ~~~1~ +QJ5 S ~~2~~ ¢K5
E 43 ~~4 &JT E 4~~41 »84
W32~~~ W 4~~41
3NN4 -430 Mean: 5CXS5 550 8.0 1 ||# 12 o JT642 3NW5 460 Mean: 6CE-1 50 100 1
3NN4 -430 200  3NN4 430 60 3 v 85 3NW5 460 -440 5CW5 400 1.0 1
Dif: 0 NS:6 5CS5 400 50 2 + QT8 Dif: 0 NS:-1 3NW4 430 0.0 1
IMP: 0 EW:-6 5CS-1 50 6.0 1 & A96 IMP: 0 EW:1 3NE4 430 0.0 1
» 9742 5CS-2 100 -70 2 ||a 53 ~ AKQ97 3NW5 460 1.0 3
v 9543 6NXN-2 300 -11.0 1 ||e AJ7 | v Q9 3NW6 490 20 2
+ A96 ¢ A972 ¢ K4 6CW6 920 -10.0 1
s A3 a Q432 a KJT8
oo VAN 4,8
N ~~~~~ v KT6432
S ~~~~~ ¢ J653
E 5~~56 &75
W 5~~56
#13 » KQ53 3NE4 630 Mean: 2HE3 140 9.0 1 ||# 14 s QT2 5HXE-2 -300 Mean: 5HXW-2 300 30 3
v Q2 2NE4 180 -530 2NE4 180 80 1 v?9 5HXW-2 -300 210  5HXE-2 300 3.0 4
¢ T987 Dif: 450 NS:8 3NE3 600 -20 1 o JT953 Dif: 0 NS:3 4HW-1 50 -40 2
» AJ6 IMP: 10 EW:3 3NW4 630 -3.0 1 » T632 IMP: 0 EW:-3 5SS-1 50 6.0 1
& J962 \ & A87 3NE4 630 -3.0 4 ||s 654 s 97
v AJ963 v K4 3NES -660 -4.0 2 ||ev AK743 v QJT652
e5 + + AKQJ3 + Q2 .74
& 983 & K75 » AQJ » K87
FOIVAN ,T4 % ¢ VAN 4 AKJIB3
N ~~~~~ v T875 N 13~3~ ¢38
S ~~~~~ ¢ 642 S 13~ 3~ ¢ AK86
E ~~554 &QT42 E ~~3~~ &954
W ~~554 W ~~3~~
# 15 'y 6CS-2200 Mean: 6CS-2 200 7.0 1||#16 » KQJ93 4SN4 -420 Mean: 4SN4 420 40 7
v KJT876 5HS-2 200 -490  5HS-2 200 7.0 2 v 62 4SN4 -420 270  5SN-1 50 8.0 1
¢ T32 Dif: 0 NS:7 4SW5 450 1.0 2 *2 Dif: 0 NS:4 4SN-1 50 8.0 1
& 7654 IMP: 0 EW:-7 5DN-5 500 0.0 1 & KT832 IMP: 0 EW:-4 6CXN-1 4100 9.0 1
& JT76542 & AKQ3 4SXW5 690 -50 1 aT » 8654
v Q2 v 53 5SXW6 750 -6.0 3 ||e AT74 — v QJ853
¢ AKJ7 ¢+ 864 + KQJT4 ¢ 9753
& » JT93 » QJ4 »
oo VABN 9 oo VAN 4 AT2
N 3~4~~ 9A% N 4~~32 ¢K9
S 3~5~~ Q9% S 5~~23 ¢ A86
E ~1~5~ &AKQ82 E ~53~~ & A9765
W ~1~5~ W ~53~~




112 £ F > A EREHL 2RR2 =

=> RS

#1: 5 BkIIEI$(179.06) #2: 3 ﬁm%(lﬁ 02) #3: 6 F1E(168.68)

1 O NS: $]1E 318 =LEEAC) -30 5 NS: BRES) 5REE(BAO) -6 4.00 16.00 | Total VP: 105.86 Rank:
EW: E258 REHEBEEO) 6 EW: E€# 2% (BAC) 30 IMP:| 8 ;26 9
I — o
#9 aT3 3CW-1-100 Mean: 4CW-2 200 7.0 1|[[#10 s T6 3SE5 200 Mean: 2HS2 110 80 2
v QT542 4CW-2 -200 -110  3CW-1 100 50 3 v 983 4HXS-2 500 -230 3HS-1 100 4.0 1
732 Dif: 100 NS:7 3SS-2 4100 00 1 ¢ T8643 Dif: -300 NS:-7 3SE4 470 20 2
» 632 IMP: 3 EW:-5 3CW3 110 00 2 » KQ5 IMP: -7 EW:-1 2SE4 470 2.0 1
s 84 & K95 28S-2 100 00 1 ||a K72 » QJ854 3SE5 200 1.0 1
v J9 v K763 3NE3 600 -10.0 2 ||w A2 _I_ v 74 4HXS-2 500 -7.0 1
+ AK84 — * T96 * AQ72 *J9 4SE4 620 9.0 2
& AK954 » Q87 & 9763 & AJT2
% ¢ VAN 4 AQJ762 *oVAN 4 A3
N ~~~~~ v A8 N ~~2~~ y KQJT65
S ~~~1~ +QJ5 S ~~2~~ ¢K5
E 43~~4 &JT E 4~~41 »84
W32~~~ W 4~~41
6NXN-2 300 Mean: 5CXS5 550 8.0 1 ||# 12 o JT642 5CW5 400 Mean: 6CE-1 50 100 1
5CS-2100 200 3NN4 430 60 3 v 85 3NE4 430 -440 5CW5 400 1.0 1
Dif: 200 NS:-7 5CS5 400 50 2 + QT8 Dif: -30 NS:0 3NwW4 430 0.0 1
IMP: 5 EW:11 5CS-1 50 6.0 1 & A96 IMP: -1 EW:-1 3NE4 430 0.0 1
~ 9742 5CS-2 100 -70 2 ||a 53 ~ AKQ97 3NW5 460 1.0 3
v 9543 6NXN-2 300 -11.0 1 ||e AJ7 | v Q9 3NW6 490 20 2
+ A96 ¢ A972 ¢ K4 6CW6 920 -10.0 1
a A3 a Q432 a KJT8
oo VAN 4,8
N ~~~~~ v KT6432
S ~~~~~ ¢ J653
E 5~~56 &75
W 5~~56
#13 » KQ53 3NE4 630 Mean: 2HE3 140 9.0 1 ||# 14 s QT2 5HXE-2 -300 Mean: 5HXW-2 300 30 3
v Q2 3NE5 660 -530 2NE4 180 80 1 v?9 4HW-1 -50 210  5HXE-2 300 3.0 4
¢ T987 Dif: -30 NS:-4 3NE3 600 -20 1 ¢ JT953 Dif: -250 NS:-4 4HW-1 50 -40 2
» AJ6 IMP: -1 EW:3 3NW4 630 -3.0 1 » T632 IMP: -6 EW:-3 5SS-1 50 6.0 1
& J962 \ & A87 3NE4 630 -3.0 4 ||s 654 s 97
v AJ963 v K4 3NES -660 -4.0 2 ||ev AK743 v QJT652
e5 + + AKQJ3 + Q2 .74
& 983 & K75 » AQJ » K87
FOIVAN ,T4 % ¢ VAN 4 AKJIB3
N ~~~~~ v T875 N 13~3~ ¢38
§ ~~~~~ ¢ 642 S 13~ 3~ ¢ AK86
E ~~554 &QT42 E ~~3~~ %954
W ~~554 W ~~3~~
# 15 'y 5SXW6 750 Mean: 6CS-2 200 7.0 1||#16 » KQJ93 4SN4 -420 Mean: 4SN4 420 40 7
v KJT876 5SXW6 750 -490  5HS-2 200 7.0 2 v 62 B6CXN-1 100 270  5SN-1 50 8.0 1
¢ T32 Dif: 0 NS:-6 4SW5 450 1.0 2 *2 Dif: -520 NS:-9 4SN-1 50 8.0 1
& 7654 IMP: 0 EW:6 5DN-5 500 0.0 1 & KT832 IMP: -11 EW:-4 6CXN-1 4100 9.0 1
& JT76542 & AKQ3 4SXW5 690 -50 1 aT » 8654
v Q2 v 53 5SXW6 750 -6.0 3 ||e AT74 — v QJ853
¢ AKJ7 ¢+ 864 + KQJT4 ¢ 9753
& » JT93 » QJ4 »
oo VABN 9 * ¢ VAN 4 A2
N 3~4~~ vA% N 4~~32 ¢K9
S 3~5~~ Q9% S 5~~23 ¢ A86
E ~1~5~ &AKQ82 E ~53~~ & A9765
W ~1~5~ W ~53~~




